

## Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS QUEZON II DISTRICT ENGINEERING OFFICE

REGIONAL OFFICE IV-A Dalahican Road, Lucena City

## **CONTRACT AGREEMENT**

THIS AGREEMENT, made this 8<sup>th</sup> day of May, 2023 by and between the GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES through the Department of Public Works and Highways Quezon II District Engineering Office (DPWH QUEZON II DEO) represented herein by DEL ROSARIO C. NACA, District Engineer, duly authorized for this purpose, with main office address at Dalahican Road, Lucena City, Quezon hereinafter called the "Procuring Entity"; and WAYCON BUILDERS AND CONSTRUCTION SUPPLY CORP. a single proprietorship/ partnership/ corporation/ Joint Venture organized and existing under and by virtue of Laws of the Republic of the Philippines, with main office address at Narra St. Employees Village, Brgy. Gulang-Gulang, Lucena City, Quezon, represented herein by ROMLEY A. MENDIOLA, Owner/General Manager, duly authorized for this purpose, hereinafter called the "Contractor".

WHEREAS, the ENTITY is desirous that the Contractor execute 23DJ0115-CONVERGENCE AND SPECIAL SUPPORT PROGRAM: Basic Infrastructure Program (BIP)-Multi-Purpose Buildings/Facilities to support Social Services, Construction of Multi-Purpose Building (Evacuation Center), Barangay Mayabobo, Candelaria, Quezon (hereinafter called **the "Works,"**) and the Entity has accepted the Bid for Four Million Eight Hundred Fifty One Thousand Pesos Only (PHP 4,851,000.00) by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

## NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Contract Agreement, viz.;
  - a. Philippine Bidding Documents:
    - i. Drawings / Plans;
    - ii. Specifications;
    - iii. Bill of Quantities:



ROMLEY A. MENDIOLA Owner/General Manager

WAYCON BUILDERS AND CONSTRUCTION SUPPLY CORP.

As to Availability of Funds Only

Government of the Republic of the Philippines (DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS) By: ROSARIO C. NACA District Engineer

Item No.	Description	Unit	Quantity	Unit Bid Price	Total Amount (P)	
PART I	FACILITIES FOR THE ENGINEER	•				
A.1.1(3)	Construction of Field Office for the Engineer	1.s.	1.00	138,932.47	138,932.47	
A.1.1(11)	Provision of Furnitures/Fixtures, Equipment and Appliances for the Field Office for the Engineer	1.s.	1.00	11,404.80	11,404.80	
A.1.4(1)	Provision of Progress Photographs	ea.	180.00	19.80	3,564.00	
PART II	OTHER GENERAL REQUIREMENTS					
B.3	Permits and Clearances	1.s.	1.00	32,505.00	32,505.00	
B.5	Project Billboard/Signboard	ea.	1.00	7,574.16	7,574.16	
B.7(2)	Occupational Safety and Health Program	1.s.	1.00	8,261.47	8,261.47	
B.9	Mobilization/Demobilization	1.s.	1.00	36,960.00	36,960.00	
PART III	CIVIL, MECHANICAL, ELECTRICAL AND SANITARY/PLUMBING WORKS					
PART A	EARTHWORK					
803(1)a	Structure Excavation (Common Soil)	cu.m.	62.22	566.48	35,246.39	
804(1)a	Embankment from Structure Excavation	cu.m.	55.65	491.32	27,341.96	
804(4)	Gravel Fill	cu.m.	3.15	2,596.73	8,179.70	
PART B	PLAIN AND REINFORCED CONCRETE W	ORK				
506(1)	Stone Masonry	cu.m.	190.00	8,284.37	1,574,030.30	
900(8)	Structural Concrete (27.58 Mpa, @28 days)	cu.m.	47.37	10,199.69	483,159.32	
902(1)a	Reinforcing Steel Bar, Grade 40	kg.	1,114.25	72.82	81,139.69	
902(1)b	Reinforcing Steel Bar, Grade 60	kg.	5,171.56	74.70	386,315.53	
903(2)	Forms and Falsework	sq.m.	151.20	676.37	102,267.14	
PART C	FINISHINGS AND OTHER CIVIL WORKS					
1000(1)	Soil Poisoning	lit.	14.00	441.35	6,178.90	
1013(1)	Corrugated Metal Roofing, Gauge 26	sq.m.	590.08	832.48	491,229.80	
1047(1)	Structural Steel	l.s.	1.00	975,122.93	975,122.93	
1047(2)b	Structural Steel (Purlins)	kg.	3,040.00	114.28	347,411.20	
1047(6)	Metal Structure Accessories (Steel Plates)	kg.	261.95	115.51	30,257.84	
1047(7)b	Metal Structure Accessories (Sagrods)	kg.	153.53	84.93	13,039.30	
1047(4)	Metal Structure Accessories (Crossbracing)	kg.	246.22	86.01	21,177.38	
1047(3)c	Metal Structure Accessories (Turnbuckle)	ea.	40.00	334.16	13,366.40	
1047(3)a	Metal Structure Accessories (Bolts)	ea.	56.00	85.22	4,772.32	
1013(2)b3	Fabricated Metal Roofing Accessory (Valley Rolls/Gutter Gauge 24)	l.m.	24.00	481.75	11,562.00	
Contract Duration:	180 C.D.			Grand Total	4,851,000.00	

CONTRACT AGREEMENT: Contract ID No. 23DJ0115 GPPB Resolution No. 16-2020, dated 16 September 2020

- iv. General and Special Conditions of Contract;
- v. Supplemental or Bid Bulletins, if any;
- b. Winning bidder's bid, including the Eligibility Requirements, Technical and Financial Proposals, and all other documents or statement submitted.

Bid form including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security.
- d. Notice of Award (NOA) of Contract and the Bidders "conforme" thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of Four Million Eight Hundred Fifty One Thousand Pesos Only (PHP 4,851,000.00) or such other sums as may be ascertained, WAYCON BUILDERS AND CONSTRUCTION SUPPLY CORP. agrees to execute and complete the works (remedying any defects), in accordance with his/her/its Bid.
- 4. The Department of Public Works and Highways Quezon II District Engineering Office (DPWH QUEZON II DEO) agrees to pay the above mentioned sum in accordance with the terms of the bidding.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed the day and year first before written.

Represented by:

DEL ROSARIO C. NACA District Engineer

for

GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES

Department Of Public Works and Highways Quezon II District Engineering Office (DPWH QUEZON II DEO) Represented by

ROMLEY A. MENDIOLA Owner/General Manager

WAYCON BUILDERS AND CONSTRUCTION SUPPLY CORP.

Witnessed by:

TINA G. EUÑALES

Chief, Finance Section
As to Availability of Funds Only

LAURENCE M. LUICC

OIC - Chief, Construction Section

OF THE PHILIPPINES	) )S.S
	)

## **ACKNOWLEDGEMENT**

BEFORE ME, as the Notary Public for and within the City of \_\_\_\_\_ personally appeared DEL ROSARIO C. NACA, District Engineer, representing the REPUBLIC OF THE PHILIPPINES (Department of Public works and Highways Quezon II District Engineering Office), with CTC No. 14432670 issued on January 3, 2023 at Lucena City and ROMLEY A. MENDIOLA, Owner/General Manager, representing WAYCON BUILDERS AND CONSTRUCTION SUPPLY CORP. with CTC No. 17519352 issued on January 5, 2023 at Lucena City, known to me to be the same persons who executed the foregoing CONTRACT and AGREEMENT and they acknowledged to me that the same is their true act and deed for and in behalf of the parties they represented.

This instrument consists of five (5) pages, including this page, on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other pages.

IN WITNESS WHEREOF, I have hereunto affixed my Signature and Official Seal this \_\_\_\_\_ day of \_\_\_\_\_, \_\_\_\_,

(NOTARY PUBLIC)

Doc. No. \_\_\_\_\_\_ .

Page No.\_\_\_\_\_.

Book No.\_\_\_\_\_.

Series of \_\_\_\_\_\_.